Unit 2 Study Guide Part 1
Angles, Triangle Congruence, and Proofs

Theorems about Lines and Angles

1. Name the relationship and then find the missing angle measures by solving for x.
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24 The measure of one angle is 38 more than three times its supplement. Find the measure of each angle.
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3. Determine what steps are missing from the following proofs.
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Prove: 21 = £3
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Congruent Triangles

Determine whether each pair of triangles is congruent. If so, write a congruence statement, and
explain why the triangles are congruent.
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7) For AABC and ADFF the following is given: £A = 2D, 2B = £E ,AB = DE. Sketch a picture to determine if
the two triangles can be proven congruent. If so, create a two column proof.
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10.

Given: ZMNP=20PN, and MN=0P
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Given; AC=CE, DC=BC
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14. Write either a two-column proof or a paragraph proof to show that the base angles in an isosceles triangle
are congruent. In other words, show that ZC = /B.
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Properties of Parallelograms

Use the following parallclogram to mark these properties:
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Opposite sides are parallel and congruent
Opposite angles are congruent
Consecutive angles are supplementary
The two diagonals bisect one another
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15. AGDE = AEFG. Find the length of DE. 16. AVWT = ATUV. Find the value of x.
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Remember you can’t put a CPCT before a triangle congruency rule.
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